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New Model Questions - 2067 (SET I)

Time 4 hrs Full marks 100
Candidates are required to give their answers in their own words as far as practicable.

The figures in the margin indicate full marks.

Group A: Short answer questions -
Attempt any SIX questions. [60]
1. What is investment? Describe briefly the investment environment in Nepal. [4+6]
2. What is hedge fund? Describe general principles of hedging. [5+5]
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State whether the following statements are true or false. Give reasons for your answer.

i. Suppose you have submitted an order to buy a stock which is quoted as 55.25 (bid) and
55.50 (asked). Given the quotes, your trade is executed at 55.25.

ii. Consider a mutual fund that manages a portfolio of securities worth Rs 120 million.
Suppose the fund owes Rs 4 million to its investmenf advisers and owes another Rs 1

* million for rent, wages due; and miscellaneous expenses. The fund has 5 million shares

outstanding. The net asset value is Rs 23 per share.

iii. Totalrisk consists of systematic risk and market risk.

iv. Call options are right to buy stocks at market price. ‘[472.5]
Ans: (i) T (i) T (i) F (v) F
Write short notes on-(Any TWQ) [5+5]
i.  Active bond management
ii. Futures contract
iii. Securities Board of Nepal
. The composition of Kumari Fund portfolio as on 1% January 2010 was as follows:
Stock Shares Price .

A 200,000 Rs 35

B 300,000 40

C 400,000 20

D 600,000 25

i. The fund had not borrowed any funds, but its accrued management fee with the portfolio
manager tofaled Rs 30,000. There were 4 million shares outstanding. What was the net
asset value of the fund on 1% January 2010? What is the significance of net asset value for
the investor? ;

ii. If during the year the portfolio manager sold all of the holdings of stock D and replaced it
with 200,000 shares of stock E at Rs 50 per share and 200,000 shares of stock F at Rs 25
per share, what was the portfolio tumover rate? What does portfolio tumover rate signify?

iii. By the year-end 2010 the net asset value equaled Rs 12.10. The fund paid year-end
distribution of income and capital gain of Rs 1.50. What was the rate of retum to an

investor in the fund? X [4+4+2]
Ans: (i) Rs 10.4925 per share (il) 35.7% (iii) 29.62%

Consider the following information about a risky portfolio that you manage, and a risk-free

asset: E(Rp) = 11 percent, op = 15 percent, Rs = 5 percent.

i.  Your client wants to invest a proportion of her total investment budget in your risky fund to
provide an expected rate of return on her overall or complete portfolio equal to 8 percent.
What proportion should she invest in the risky portfolio, P, and what proportion in the risk-
free asset?

ii. What will be the standard deviafion of the rate of retum on her portfolio?

iii. Another client wants the highest retum possible subject to the constraint that you limit his
standard deviation to be no more than 12 percent. Which client is more risk averse and
why? [4+4+2]

Ans: (i) 50% (ii) 7.5%

You apply Dupont system of financial analysis to the following data for ABC Ltd.

Leverage ratio (asset/equity) 22
Total asset tumover 2.0
Net profit margin 5.5%
Dividend payout ratio 31.8%

i. Whatis ABC's return on equity?

ii. ABC Ltd and another company XYZ Ltd have the same retum on asset (ROA), yet ABC's
return on equity is higher. How can you explain this?

ii. ABC Ltd has a profit margin on sales below the industry average, yet its retumn on asset
(ROA) is above the industry average. What does this imply about its asset tumover?

[5+2.5+2.5]
Ans: (a) 24.2%
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8.

Suppose that Infoteck currently is selling at Rs 40 per share. You buy 500 shares using Rs
15,000 of your own money, borrowing the remainder of the purchase price from the broker. The
rate on the margin is 8 percent.

i. What is the percentage increase in the net worth of your brokerage account if the price of
Intel immediately changes fo: (a) Rs 44; (b) Rs 40; (c) Rs 367 What is the relationship
between your percentage retum and the percentage change in the price of Intel?

i. If the maintenance margin is 25 percent, how low can Infoteck’s price fall before you get a
margin call?

iii. How would your answer to ‘i’ change if you had financed the initial purchase with only Rs

10,000 of your own money? [5+2.5+2.5]
Ans: (i) a. Rs 17,000; 13.33% b. no change; 0% c.Rs. 13,000; -13.33% (il) Rs 11.33 (iii) Rs 26.67

Group B: Comprehensive answer duestions
Attempt any TWO questions [40] -

9.

10.

1.

(b)

What is portfolio performance evaluation? Describe the conventional theory of performance
evaluafion. , [20]
XYZ Ltd has issued various bonds with the following characteristics.

Bond A carries 8 percent coupon and pays interest semiannually. The bond is selling at Rs 980

in the market.

Bond Bis 8 percent, 5-year maturity bond paying 10 semiannual coupon payments of Rs 40 each.

Bond C is 8 parcent coupon, 30-year maturity bond and it is selling at Rs 1 ,276.76.

Bond D is & 3-year zero coupon bond. :

i, What will be the invoice price of Bond A if the last coupon was paid 30 days ago? (use 182
days in a half-year)

ii. What is the value of Bond B?

jii. What rate of return would be eamed by an investor by purchasing Bond C at Rs 1,276.767

iv. What is the duration of Bond B if the yield to maturity is 10 percent?

v. Suppose you must make a payment of Rs 14,641in four years. The market interest rate is
10 percent, so the present value of obligation is Rs 10,000. You wish to fund the obligation
using Bond B and Bond D (i. e. invest in Bond B and Bond D now and pay the obligation in
four years using the proceeds from bonds). How much you should invest in Bond B and

Bond D to immunize the obligation? (2+3+5+5+5) ,
Ans: (i) Rs 996.59 (i) Rs 922.768 (iii) 5.9921% (iv) 4.18 years (v} 84.75% and 15.25%

(a) Suppose the rate of return on short-term govemment securities (perceived as risk-free) is
about 5 percent. Suppose also that the expected rate of retum required by the market for a
portfolio with a beta of 1 is 12 percent. According to the capital assets pricing model:

i.  Whatis the expected rate of return on the market portfolio?

i. What would be the expected rate of retun in & stock with § = 07

iii. Suppose you consider buying a share of stock at Rs 40. The stock is expected to pay
Rs 3 dividends next year and you expect it to sell then for Rs 41. The stock risk has

been evaluated at B = -.5. Is the stock overpriced or underpriced?
Ans: (a) (I} 12 % (i) 5 % (ifi) Since expected return on the stock (10%)
is greater than the required return (8.5%), the stock is underpriced.

Suppose that there are wo independent economic factors, F1 and Fz. The risk-free rate is 6
percent, and all stocks have independent firm-specific components with a standard deviation of
45 parcent. The following are well-diversified portfolios:

Portfolios Beta on Beta on Expected
F1 F2 returns
A 1.5 20 %
B - 22 0.2 27%
What is the expected retum-beta relationship in the economy? [10+10]

a Ans: E(Rg) = Re + 10Bp1 + 5Fpa
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New Model Questions- 2067 (SET II)

Time 4 hrs ' ) Full marks 100

Group A: Short answer questions

Attompt any SIX questions. [60]
Discuss risk return characteristics of govemment securities. If you like to trade in ‘Development
Bonds' issued by Nepal Government, how would you proceed to buy or sell them? [10]
What is mutual fund? What are the imporant costs associated with investing in mutual funds?(4+6)
State whether the following statements are true or false. Give reasons for your answer.

w

i. Commercial papers are widely used to finance short-term financial needs of firms in Nepal.
ii. Nepal Stock Exchange is the regulator of financial markets in Nepal.

iii. Put options are rights to sell common stocks at predetermined price within specified period.
iv. Sharpe portfolio performance measure is calculated by dividing the difference between the

mean retumn of the portfolio and the risk-free rate by beta of the portfolio. [4x2.5]
Ans: (i) F (i) F (iii) T (iv) F
4. Write short notes on (Any TWQ) [5+5]
i. Capital allocafion line
ii. Pension fund
ii. Hedging techniques

5. Through a margin account, Mr Sharma short sells 200 shares of Shrestha Inc. stock for

Rs 50 per share. The initial margin requirement is 45 percent.

a. If Shrestha Inc stock subsequently rises to Rs 58 per share, what is the actual margin in
Sharma's account?

b. If Shrestha Inc stock subsequently falls to Rs 42 per share, what is the actual margin in
Sharma's account? :

c. Calculate Sharma’s rate of retum in parts (i) and (i) assuming that the short loan was flat
but the initial margin deposit eamed interest at a rate of 8 percent and that the prices of Rs

58 and Rs 42 were observed after one year during which the firm did not pay any dividend.
Ans: (a) Rs. 2,900 (b) Rs. 6,100 (c) (i) — 27.56% (ii) 43.56%

6. Given that the expected returmn on the market portfolio is 10 percent, the risk-free rate of return
is 6 percent, the beta of stock A is 0.85 and the beta of stock B is 1.20.
i. . Draw the Security Market Line (SML).
il. What is the equation for the SML?
iii. What are the equilibrium expected retums for stocks A and B?
iv. Plot the two risky securities on the SML. [4*2.5]
Ans: (ii) E(ra) = 6% + [10% — 6%] Ba; Elrs) = 6% + [10% ~ 6%] Ba (iii) 9.4% and 10.8%
7. Binod recently purchased a bond with a Rs 1,000 face value, a 10 percent coupon rate, and
four years to maturity. The bond makes annual interest payments, the first to be received one
year form today. Binod paid Rs 1,032.40 for the bond.
i. What is the bond's yield to maturity?
ii. If the bond can be called two years from now at a price of Rs 1,100, what is its yield-to-

call? g [5+5]
Ans: (1) 8.99% (i) 12.76%

8. HP stock is currently priced at Rs 400 per share. Six months from now its price will be either Rs
4421 or Rs 361.9. If the price rises to Rs 442.1, then six months later the price will be either Rs
488.6 or Rs 400. If, however, the price initially falls to Rs 361.9, then six months later the price
will be either Rs 400 or Rs 327.5. The risk-free rate (continuously compounded) is 3.05 percent
over each six-month period. Using the binomial option pricing model, what is the fair value of a

one-year call option on HP stock? [10]
Ans: Rs. 33.0424

Group B: Comprehensive answer questions

Attempt any TWO questions [40]

9. "The notion that stocks already reflect all available information is referred to as the efficient
market hypothesis”. Elucidate this statement and state the different versions of efficient market
hypothesis. . [20]
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10. You manage a risky portfolio with expected rate of retumn of 18 percent and standard deviation
of 28 percent. The T-bill rate is 8 percent.

i.  Your client chooses to invest 70 percent of a portolio in your fund and 30 percent in a T-bill
money market fund. What is the expected value and standard deviation of the rate of retum
on his portfolio?

ii. Suppose that your risky portfolio includes the following investments in the given
proportions: Stock A 25 percent, Stock B 32 percent, Stock C 43 percent. What are the
investment proportions of your client's overall portfolio including the position of T-bill?

. iii. Suppose stocks A, B and C have beta 1.2, 2.5 and 0.8 respectively. What is the beta of -
your client’s overall portfolio including the T-bill?

iv. What is the reward-to-volatility ratio (S) of your risky portfolio? Your client's?

v. Your client's degree of risk aversion is A = 3.5. What proportion, y, of total investment
should be invested in your fund? And what is the expected value and standard deviation of

the rate of return on your client's optimized portfolio? [6*4]
Ans: (1) 15%. and 19.60% (i) 15.5%; 22.4%; 30.1%; 30% (iil) 0.9868 (iv) 0.3571 (v) 52%; 11.64% and 10.19%

11. The market consensus is that Everest Electronic Corporation has an ROE = 9 percent, has a
beta of 1.25, and plans to maintain indefinitely its traditional plowback ratio of 2/3. This year's
eamings were $3 per share. The annual dividend was just paid. The consensus estimate of the
coming year's market refum is 14 percent, and T-bill currently offer a 6 percent return.

i.  Find the price at which Analog stock should sell.

ii. Calculate the P/E ratio. ' .

iii. Calculate the present value of growth opportunities.

iv. Suppose your research convinces you Analog will announce momentarily that it will
immediately reduce its plowback ratio to 1/3. Find the intrinsic value of the stock.

v. The market is still unaware of this decision. Explain why Vo na longer equals Po and why Vo

is greater or less than Po.. [5*4]
Ans: (i) Rs 10.60 (ii) 3.33 (jii) ~Rs 9.275 (iv) Rs 15.85

PART I. INTRODUCTION

1. . INVESTMENT ENVIRONMENT
. 2070 Q.No. 1

Discuss the investment environment in Nepal. [10]
2. 2070 Old Q.No. 1

Explain the recent changes in the investment environment of Nepal. Explain how do these

changes affect individual investors like you. ; [10]

20 :

Discuss important considerations in the process of portiolio management. [10]
4. 2069 Q.No. 9

What are the trends in contemporary investment .environment? Also describe the role of

gulator in the development of securities markets in Nepal. [10+ 10]

5. 2069 Oid Q.No. 1

Do you think that Nepalese investors are informative and analytical while making investment

decision in securities market of Nepal? Explain. [10]
6. 2068 Old Q.No. 1 . :

“The investment process involves taking a series of decisions and actions.” Discuss. [10]

, 2087 Q.No. 1

What is investment? Describe briefly the important investment altematives available in Nepal. [5+5]
[B. 2067 Q.No. 1 (Old)|

What factors might an individual investor take into account in determining his or her investment

policy? C [10]

5
o
©
o
z
o

i
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8. 2066 Q.No.
Discuss the investment environment in Nepal. And also describe, by giving suitable examples,

the investment process an investor should follow while investing in Nepal. [10+10]
0. 2065 Q.No.

As an investor, what investment process do you follow while making investment decision? Do

ou think Nepalese investors follow investment process? Explain.
1. 2064 Q.No. 1

Discuss the asset ownership pattern of the individual investors and what factors govem the
individual asset ownership.

:

Define investment process. What steps the investors should consider in setting investment
process i [10]
'
Explain the investment process which investors should follow while making investment decision
in financial securities in Nepal. -[10]
What do you understand by investment process? Describe the various steps invoived in
investment process. ! [10]
The investment environment encompasses the kinds of marketable securities that exist and
where and how they are bought and sold. Explain. [10]
What do you understand by investment policy? What factors might an individual investor take
into account in determining his or her investment policy? [10]

2. MARKETS AND INSTRUMENTS

[1. 2070 OId Q.No. 23] :
Explain the major types of money market instruments with an emphasis on those currently
popular in Nepal. 1 : [4]
‘

a. The Dow theory has been subjected to numerous scientific studies which support its validity.
True, false or uncertain. Explain.
b. Over the past 4 weeks, the Barron's confidence index (BCI) has had the following values:

Week BCI
1 0.70
2 0.68
3 0.65
) 4 0.61
What do you understand from the above information given? Interpret. [5+5]
[B. 2069 Oid Q.No. 24| :
Briefly explain types of fixed income securities. y 5]
:
Explain the purpose of various regulations enacted by Nepal Government for regulating
securities markets in Nepal. [20]
‘

What is market index? Describe how the market index like Nepse is constructed. [5+5]
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In your opinion, what would be the main reasans for the current movements in stock prices with
bullish sentiments? Do you think that these unexpected upswings in stock prices are realistic or
artificial and in this respect what measures have been taken by the regulating authorities that
include both SEBON and NEPSE in controlling and supervising over the activities of brokers?

Compare and contrast between NEPSE, and Dow Jones Industrial Average (DJIA). Explain

how adjustment is made in calculation of these indexes. [10]
‘Explain the major types of fixed income securities with an emphasis on those currently popular

in Nepal. [20]

Explain the major types of money market instruments with an emphasis on those currently

noD Iar in Nepa.‘. E20]

*Perhaps the most familiar type of fixed income investment is the personal savings account at a
bank, savings and Loan Company, or credit unions." Discuss. [20]
@ Write notes on:
[11. 2067 Q.No. 6a (Old)|
Derivative securities [5]
 Fixed income securities [5]

Money market instruments ' 5]

Stock market index [5]

Municipal Bonds [5]
[16. 2070 Old Q.No. 2b]

Consider a 13 week Treasury bill, issued today, which is selling for Rs.8500. (Its face value is

Rs.10,000). (i) What is the discount yield on 13-week Treasury bill? (ii) What is the equivalent
yield of the Treasury bill? What is the yield to maturity?

a. Consider the following quotes for Treasury note. )
Rate Maturity Mo/Yr Bid Asked CHG Ask yld
4.250 Nov 13n 97:29 97:30 +10 4.60
i.  If you want to buy this note how much does it cost based on the above quote?
ii. If you want to sell it, at what price can you sell?
iii. What does 'CHG +10' indicate?
iv. Do you need to incur any additional costs to buy or sell bonds?
b. Consider the following quotes for a common stock listed in NYSE.

Ans: (b) (i) 19.78% (ii) 21.10% and 22.83%

52 WK Yield
Net ; YTD%
Name [Symbal| Close chg Volume High | Low Div PE change
General
Denanmics GD (7459 | 0.17 [1,497 |77.98 | 5668 | 092 [ 12 | 16 | 03

i. Whatis the closing price of the stock? What was it on the previous trading day?
ii. Interpret "52 WK High Low". What is its significance to an investor? .

ji. How is dividend yield computed? . [5+5]
Ans: (3) (i} Rs. 79.375 per note (ii) Rs. 979.0625 per note (b) (i) Rs. 74.42 per share (iii) 1.2%
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A T-bill with 83 days until maturity has an asked discount rate of 5.03 percent and a bid
discount rate of 5,05 percent. The asked yield to maturity is 5.16 percent and face value is

Rs. 10,000.

i.  Determine the asked price for the T-bill.

ii. ~Determine the bid price for the T-bill.

iii. Prove the asked yield to maturity is 5.16 percent.
iv. Determine the effective annual rate of retum for the T-bill.

v. What is the bid-asked spread?

3]

Ans: (i) Rs. 9,884.0306 (ii) Rs. 9,883.4694 (jii) 5.16% (iv) 5.26% (v) Rs. 0.4612

Based on the following stick price and shares outstanding information, compute the beginning

and ending values for a price-weighted index and market-value-weighted index.
Dec 31, 2002 Dec 31, 2003
Price Shares of Price Shares of
outstanding outstanding |
Stock K 20 100,000,000 32 100,000,000
Stock L 80 2,000,000 45 4,000,000
Stock M 40 25,000,000 42 25,000,000

*Stock split two-for-one during the year.
a. Compute the percentage change in the value of each index.
b. - Explain the difference in results between the two indexes.

c. Compute the results for an unweighted index and discuss why these results differ from the

others.

Calculate stock price index from the three common stocks listed below. Assume there was no
additional issue of share within the periods and any stock dividends or splits. Ignore cash

Ans: (a) 19% & 4.11% (c} 10708 points

dividend payments when computing the price index. [2.5x4]
Total shares Base period | Most recent period |
Stocks outstanding | market price | market price July 1, Fr'ﬁ::ecgt:nge
on both dates | July 1, 1996 2006 P ge
MBL 50,000 Rs 20 Rs 60 +200
NIBL 10,000 40 80 +100
NABIL 100,000 60 80 +33
HBL 40,000 30 50 +67

i. Ifthe new four stocks index ls value weighted, what will be its value on July 1, 20067

ii. If the four new stocks index is price weighted, what will be its value on July 1, 20067

iii. If new four stocks index is equally weighted, what will be its value on July 1, 2006?

iv. Compare and contrast the price-weighted, value weighted, and the equally weighted index

numbers you obtained from the same four stocks and explain why they differ.
Ans: (i) 160.4651 (i) 67.50 (ili) 200

R1. 2067 Q.No. 5

Consider three stocks X, Y, and Z, with the following closing prices on two particular dates:

Stock X Date 1 Date 2
X Rs. 160 Rs. 220
Y 50 40
z 240 300

On the 1 there are 100 shares of stock X, 200 shares ot stock Y, and 100 shares of stock Z

outstanding.

a. Construct a price-weighted market index using the three stocks, X, Y, and Z. What is the
index value on date 1?
b. Whatis the price-weighted value on date 27
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Assume that, on date 2, the stock X splits 4-for-1. What is the price weighted index's value
on that date?

Construct a value-weighted index using the three stocks. Assign the value-weighted index
a value of 100 on date 1. What is the index's value on date 27

If you invest on 100 shares of stock Z on date 1 and sell on date 2, did you perform better

or worse than the market? Compare the performance basad on value weighted index. [5x2]
Ans: (a) 150; (b) 186.67; (d) 120; (e) 25%; 20%

22. 2066 Q. No. 3}

These four common stocks issued no additional shares and had no stock dividends or splits.
Ignore cash dividend payments when computing the price index.

; More recent
Total shares Base price i
Stock outstanding on | market value pe':f'; ?.‘Ii’lm

| bothdates | (July 16,2000) P1 6’2009)3'
Nepal Investment Bank 60,000 * Rs.100 . Rs.1,600
Standard & Chartered Bank Nepal 50,000 100 4,000
Harishiddi Bricks & Tiles 100,000 10 3
Butwal Spinning Ltd 50,000 100 40

a. Calculate and interpret the value of the index as on July 16, 2009 assuming that the new four-
stock index is (i) value-weighted, (i) price-weighted, and (iii) equally-weighted.

b. While calculating the indexes we assumed the four stocks (i) issued no additional shares, (ii)
had no stock dividends, (i) had no stock splits, and (iv) ignored cash dividend. State -
specifically how the relaxation of these assumptions influences/ do not influence the indexes
you calculated.

23. 2065 Q.No. 33

You are given the following information regarding prices for stocks of the following firms.

Ans: a. (i) 100 and 1754.7059; (ii) 77.5 and 1410.75; (iii) 100 and 1417.5

Stocks Number of shares Price (§)

T T+1
L Cop 1,000,000 80 80
K Co - 10,000,000 20 35
M Lid. 30,000,000 189 25

Construct a price-weighted index for these three stocks, and compute the percentage in

the series for the period from T to T+ 1.
Construct & market-value-weighted index for these three stocks, and compute the

percentage change in the series for the period from T to T+1.

iii. Construct an equal-weighted index by assuming $ 1,000 is invested in each stock. What is

the percentage change in wealth for this equal-weighted portfolio?

Briefly discuss the difference in the results for the three stock indexes.
. Ans: (i) PWi; = 89.67; PWir,, = 46.67%; change = —47.95%

(i) VWI; = 100; VWi . = 19.8988; change = -80.10% (iil) EWly = 100; EWly.,= 107.1867; change = 7.1867%
24. 2064 Q.No.

Based on the following stock price and shares outstanding information, compute the price-

weighted index, value-weighted index and equally weighted index.

2004 2005
Sock Price Shares Price . Shares
- X Rs. 300 600,000 Rs. 450 600,000
X Rs. 250 200,000 Rs. 800 200,000
Z Rs. 650 900,000 Hs. 850 900,000

Also find the percentage change in the index in case of price weighted and value weighted -

index. Assuming the beginning value index in each case is 100.

Ans: Price weighted index: For 2004 = 400, For 2005 = 700; 100, 146.6258; 100.2567%; Percentage change =
46.63% Value weighted index: For 2004 = 100, for 2005 = Rs. 146.6258, Equally welghted index = 100.2567,
Percentage change in price weighted index = 75%; Percentage change in value weigihted index = 46.63%
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25. 2063 Q.No. 2

26. 2062 Q.No. 2 (b)

Fo[iowing is the market information for the securities of three companies:

Year Market price Shares outstanding
Alpha Beta Delta Alpha Beta Delta
- 2004 Rs. 5 40 35 1000 3000 2000
2005 2 40 30 3000 3000 2000
2006 2 45 33 3000 3000 2000

There has been 3-for-1 stock split in Alpha stock during 2004. )

I Determine price weighted index for each year using Dow-Jones Industrial Average (DJIA)
rating 2004 as the base. ' : ‘

ii.  Define value-weighted index for each year using standard and poor's index (S&P) with
base value of 10. .

iii. What is the retums for stock in 2005 and 2006 based on price-weighted and value-
weighted index? [10]

Ans: (i) 26.67; 25.09 & 27.87 (i) 10; 9.54; 10.62 (W) -5.92%; 11.08% and —4.6%; 11.32%

Calculate a stock price index from the four common stocks listed below. Four stocks issued no

additional shares and had no stock dividend and stock splits. . [5]
Stock A B C D
Total shares outstanding on boih date 50,000 | 10,000 | 100,000 | 40,000
Base year market price on 1/1/1994 60 20 40 80
Current market price on 1/1/2004 80 40 70 60
Percentage price change 33.33 100.0 75.0 (25.0)

If new four stock indexes is value weighted, what will be the value weighted index on 1/1/2004

and interpret the result, Ans: 32.69%
27. 2062 Q.No. 5 (b)

Consider a 90-days Rs. 10,000 T-bill, issued today by Nepal Rastra Bank, which is sold for
Rs.9,850. ‘
i.  Whatis the annual discount based on the selling price of the security?

ii. What is the annual equivalent yield of the security? 5

Ans: (a) 6% (b) 518[%]

[1._2070 Old Q.No. 4_@

Are short sellers primarily risk-taking speculators or risk-averse hedgers? Explain.

2. 2070 Old Q.No.

Govemment of Nepal has enacted a number of status regulating security markets in Nepal,
What are the implications of govemment intervention in the security markets? [20]

j

3. 2068 Old Q.No. 33

What economic events separate a bull market from a bear market? [4]

4.

2068 Old Q.No. 7b)

R

Explain the steps taken by SEBO in the primary market to protect the interest of investors.
What do you suggest for the improvement of performance of SEBO? [10]
2065 Q.No.

What procedures you have to follow while buying and selling securities in Nepal Stock .
Exchange? Explain. '

l

l

6. 2065 Q.No. 23]

Distinguish between initial margin and maintenance margin requirements.

:

.__2063 Q.No. 3|

How investors exercise the long and short positions in making buy-sell decision rules? [10]

8. 2063 Q.No.
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In your view, how SEBO activities have been proving effective in proper regulation of securities
market in Nepal? In this regard, what improvement you think is essential to strengthen the

monitoring and compliance of securities laws. [20]
ﬁ. 2062 Q.No. 7 (b)]
Discuss the advantages and disadvantages of different types of orders which investors make to
the brokers in share trading. (10]
Discuss the functions of investment bankers in Nepalese capital market and what regulatory
measures are taken by Securities Board to control investment bankers? [20]
Discuss the characleristics of secondary markets. [10]
|
Discuss the reasons why a corporation might desire to have its stock listed on the stock
exchange markets. ‘ [10]
Describe the functions of commission brokers, floor brokers, and floor traders. [10]
@ Write notes on:
fi4. 2070 Old Q.No. 6al 2058 Q.No. 6 3]
Over-the-counter market . 5]
[i5. 2069 Old Q.No. 6b]
Short sales 5]
Margin trading
. Security market in Nepal 5]
[i8. 2061 Q.No. 6 b /2067 Q.No. 6¢c (Oid)]
Securities Board of Ne% (5]

:

{2070 Ola Ao 48] ,
Mrs. Tuku Kumari buys on margin 1,000 shares of Yak & Yeti Hotel stock at Rs.60 per share.
The initial margin requirement is 50% and the maintenance margin requirement is 30%. If the

Yak & Yeti stock falls to Rs.50, will Tuku Kumari receive a margin call? [5+5=10]
. Ans: Trigger price = Rs. 42.86; No.

[0, 2069 Oid Q.No. 4b|
Mr. Yogendra bought on margin 500 shares of Everest Bank Limited at Rs. 3.50 per share. The
initial margin requirement is 45% and the annual inferest on margin loans is 12%. Over the next

year the stock rises to Rs. 400. What is Yogendra's return on. investment? [5]

Ans: 25159.9365%
Suppose that Intel currently is selling at $40 per share. You buy 500 shares using $15,000 of
you own money, borrowing the remainder of the purchase price from your broker. The rate on
the margin loan is 8 percent. [4+3+3]
a. Whatis the percentage increase in the net worth of your brokerage account if the price of
Intel immediately changes to: (i) $44, (ii) $40, and (iil) $36?

b. If the maintenance margin is 25 percent, how long can Intel's price fall before you get a
margin call? .

c. How would your answer to ‘b’ change if you had financed the initial purchase with only

$10,000 of your own money?
Ans: (i) a. Rs 17,000; 13.33% b. no change; 0% c.Rs. 13,000; -13.33% (ii) Rs 11.33 (I} Rs 2667

You are bullish on Telecom stock. The current market price is Rs.500 per share, and you have
Rs. 50,000 of your own to invest. You borrow an additional Rs. 50,000 from your broker at an
interest rate of 8 percent per year and invest Rs. 100,000 in the stock.
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a. What will be your rate of retum if the price of Telecom stock goes up by 10 percent during
the next year? (Ignore the expected dividend.)

b. How for does the price of Telecom stock have to fall for you to get a margin call if the
maintenance margin is 30 percent? Assume the price fall happens immediately.

c. Suppose you are bearish on Telecom and decide to sell short 100 shares at the current
market price of Rs. 500 per share.
i.  How much in cash of securities must you put into your brokerage account if the

broker's initial margin requirement is 50 percent of the value of the.short position?

ii. How high can the prices of stock go before you get a margin call if the maintenance

margin is 30 percent of the value of short position? [2.5+2.5+5]
Ans: (a) 12% (b) Rs. 357.1429 (c) Rs 25,000 and Rs. 576.9231

[23. 2067 Q.No. 3 (Oid)|

Securities Board of Nepal (SEBON) is planning to allow stock trading on margin account.

Initially, SEBON wishes to regulate initial margin and maintenance margin, hence has

proposed 65 percent initial margin and 35 percent maintenance margin.

Suppose you want to open an account with your broker and buy 300 stocks of Salt Trading

Corporation (STC) at Rs. 500 each.

a. How much must you deposit with the broker and how much you can borrow from the
broker to buy the stock of STC on margin account?

b.  How much can the price of STC stock decline before a margin call is required?

c. If the price of STC stock falls to Rs. 150, how much must you deposit in your brokerage
account to maintain the minimum margin requirement?

d. Why investors buy stocks in margin? [4x2.5=10]

Ans: (a) Rs 97,500; Rs 52,500 (b) Rs 230.7692 (c) Rs 35,769.24
|
An investor initially pays Rs.60,000 towards the purchase of Rs. 100,000 worth of stock of par
value Rs.100 per share. If stock price declines to Rs.60,
i.  Find the initial margin.
ii. Find the changed margin.
iii. If the broker sets a maintenance margin of 20 percent, how far could the stock price fall

before the investor would get a margin call? Also interpret the results.
Ans: (i) 60% (if) 33.33% (iil) Rs. 50

. 2069 Q.No.1
Why is mutual fund popular among investors? What are the costs of investing in mutual funds?
(5+5]

. 2068 Oid Q.No. 73] v

"Mutual funds offer the best form of investment" Discuss. [10]
‘

Discuss the current status of mutual funds in Nepal. How well does the mutual fund industry

perform relative to a naive buy-and-hold investment strategy? (6+4]
@ Write notes on:

2070 Q.No. 8Bz .

Investment company [5]

[5._2069 Old Q.No. 6d

Mutual funds in Nepal ‘ [5]
6. 2068 Q.No. 82 )

Development of mutual fund in Nepal [8]

._2068 Q.No. 8
Hedge fund versus mutual fund [5]
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5. RISK AVERSION AND CAPITAL ALLOCATION TO RISKY ASSETS

@ Write notes on:

:
Capital allocation . (8]
B. 2068 Old Q.No. 6¢ /2067 Q.No. 82|

apital market line sl

Sources of investment uncertainty B |
i_zmaned

Consider the following information about a risky portfolio that you manage, and a risk-free

assel. :

E (Rp) = 11%, op = 15%, Rf =5% [4+4+2]

a Your client wanis to invest a proportion of her total investment budget in your risky fund to
provide an expected rate of return on her overall or complete portfolio equal to 8%. What
proportion should she invest in the risky portfolio, P, and what proportion in the risk-free

b. What will be the standard deviation of the rate of retum on her portfolio? )

¢. Another client wants the highest retum possible subject to the constraint that you limit his
standard deviation to be no more than 12%. Which client is more risk averse?

Ans: (a) 50% (b) 7.5% (c) First

- B_zoaNo.§ ~

Consider a risky portfolio consisting of 25 percent Stock A, 32 percent Stock B, and 43 percent

Stock C. Stocks A, B and C have beta 1.3, 2.25 and 0.7 respectively. The expected rate of

return of the risky portfolio is 20 percent and standard deviation of 30 percent. The T-bill rate is
10 percent. .

If you invest 60 percent of your fund on risky porifolio and 40 percent in T-bill money market

fund, what will be the expected value and standard deviation of. the rate of retum on your

portfolio?

What is the beta of your overall portfolio including the T-bill?

What is the reward-to-volatility ratio (S) of your portfolio? [2.5+5+2.5]
Ans: a.16% & 18% b. 0.8076 ¢. 0.3333

o

e

OPTIMAL RISKY PORTFOLIOS

@ Write short notes on:
fi. 2068 Oid Q.No. 6b]
Investment decision theory
. 2067 Q.No. 6b (Old)|
Markowitz diversification 5]
‘
Efficient frontier (5]
[&. 2070 OId Q.No. 8b]
The expected returns and standard deviations of stock A and B are

. Stock Expected retum Standard deviation
A 13% 10%

B 5 18
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Mr. BS Rana buys Rs.20,000 of stock A and sells short Rs.10,000 of stock B, using all of the
proceeds to buy more of stock A. The correlation between the two securities is 0.25. What are
the expected refum and standard deviation of Rana's portfolie? [20]

" Ans: (a) E (r,) = 17%; op= 15.44%
5. 2068 Q.No. 5

Consider the following information for two mutual funds.

Debt Equity
Expected retumn, E(r) 8% 13%
Standard deviation, o 12% 20%
Covariance, Cov(ro, re) 72
Correlation coefficient, ppe 0.30

a. Find out the minimum variance portfolio.
b. Calculate the expected return of the minimum variance portfolio,

¢. Calculate the standard deviation of the minimum variance portfolio. [4+2+4]
Ans: (a) 0.82 and 0.18 (b) 8.9% (c) 11.45

[6._2068 Oid Q.No. 30

Susan Singh is trying to decide which of the following common stocks to purchase. Based on

dominance principle, what would you recommend? [6]
Name of Issuer Expected return, (E.R)% Standard deviation ()%
A 7 3.7
B {.7 49
C 15.0 15.05
D 3.0 3.7
E 7.7 12.0
F 40 7.0
Ans: AorB

[7._2068 O1d Q.No. 8b]

You are given descriptive statistics for two investments in table below:

. Debt (D) Equity (E)
Expected retum, E(n) 8% 13%
Standard deviation, o 10% 15%
Covariance, (ran) -45
Correlation coefficient, (re) -0.30

i.  What proportion is required fo be invested in debt and equity so s to hold the portfolio of
minimum portfolio standard deviation?
ii. If the correlation coefficient is 0.9, find the optimal proportion of investment in debt and

equity and interpret the resuit. 8
Ans: (i) 0.6506 and 0,3494 (ii) 1.6364 and - 0.6364

Citizen Investment Trust Nepal (CITN) is considering three mutual funds. The first is a stock
fund, the second is long-term goverment and corporate bond fund, and the third is T-bill
money market fund that yields a rate of 8 percent. The expected retums and standard
deviations of the risky funds are as follows:

Expected return Standard deviation
Stock fund (S) 20% 30%
Bond (B) 12 15

The covariance between the fund retums is 45.

a. What are the investment proportions in the minimum variance portfolio of the two risky
funds? :

b. ~What is the expected value and standard deviation of its rate of retum?

¢. Calculate the proportion of each asset of the optimal risky portfolio.
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d. Whatis the expected retum and standard deviation of the optimal risky portfolio?
e. What is the reward-to-volatility ratio of the capital allocation line (CAL) with optimal risky
portfalio? Ans: (2) 0.1729; 08261 (b) 13.38°%; 13.92% (¢) 0.45; 0.55 {d) 15.6%; 16.51% (¢) 046 [5x4]

6. 2066 Q.No. 9

The retumns for Stock X and Stock Y for the last seven years are given below.
Year Stock X returns Stock Y refurns
2003 - 10% 15%
2004 12 12
2005 13 15
2006 15 18
2007 16 20
2008 15 20
2009 -5 5

a. Determine the minimum standard deviation portfolio for Stock X and Stock Y.

b. ls it true that the portfolio you formed in requirement ‘3 is better than investing on Stock X
or Stock Y or a portiolio of Stock X and Stock Y formed with proportion other than
calculated in ‘2" Support your answer with illustration.

c. What would be the investors' risk and retum if they (i) invested 60 percent of their funds in
risk-free asset eaming 8 percent and remaining in portolio formed in 'a' above?

d. What would be the investors' risk and retum if they borrow fund at risk-free rate (8 percent)

and double their investment in portfolio constructed in a’ above. [14+2+2+2]
Ans: a. op = 4.3437%; b. true; c. E(rp) = 12.0937%; op = 1.73748%; d. 28.,4684% and 8.6874%

|
Assume that the proportion invested in debenture (Wd) and equity (We) are 82% and 18%
respectively. The risk and retum characteristics of the investment are as follows: :

Expected return on debenture = 8% if Wd=1

Standard deviation of return on investment in debenture = 12%

Expected retum on equity = 13%if We=1

Standard deviation of retum on investment in equity = 20%

Correlation coefficient between debenture retum and equity retum = -1.0

Is this portfolio optimal? If not what is the optimum portfolio refum?

ii. Suppose T-bill rate is 5% and correlation coefficient between bond and equity retums is
0.3. You have the two options: @ 82% investment in bond and the rest in equity and form &
portfolio A, @ 70% investment in bond and the rest in equity and form a portfolio B. Based
on Sharpe’s performance measure determine whether portfolio A dominates portfolio B or
B dominates A. Ans: (1) Wo = 0.625; We = 0.375 (2) Portfollo A: E (r7) =8.9%; @y = 14473%;

Portfolio B: E {rp) =9.5%; 0 = 11.6962%; SP, = 0.3707; SPg = 0.3847

Assume that proportion invested in debenture (Wp) and equity (We) are 80% and 20%

respectively. The risk and retum characteristics of the investment as follows: [5]

Expected retum on debenture = 8% ifWp=1

Standard deviation of retum on investment in debenture = 12%

Expected return on equity = 13%if We=1

Standard deviation of retum on investment in equity = 20%

Correlation coefficient between debenture retum and equity retum =—0.8

(i) s this portfolio optimal? If not what is the optimum portfolio retum?

(i) Suppose T-bil rate is 5% and correlation coefficient between bond and equity retum is 0.3.
You have the two options: (a) 80% investment in bond and the rest in equity and form a
portfolio A. (b) 63.8% investment in bond and the rest in equity and form a portfolio B.
Based on Sharp performance measure determine portfolio A dominated portfolio B o B

dominates A.
Ans: (i) Not. 9.81% (if) Portfolio- Returi A= 9% and B = 8.81%; Risk: A=11.45% and B = 12.0125;
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:
Consider the returns of the three stocks over 7 — year sample period as given below. [10]
Year Stock A returns Stock B returns Stock C returns
1 10% 6% 5%
2 -5 10 15
3 -7 12 20
4 15 8 25
5 20 14 30
6 -30 7 -35
b3 12 8 20

a. Calculate correlation coefficients between retums of the stocks A and B, and A and C.

b. What is the significance of calculated correlation coefficients in diversifying portfolio risk?
Ans: (a) 0.2432 and 0.781 (b) Correlation coefficient measures the relationship between two assets. The
range of correlation varles from +1 (perfectly positive) to — 1 (perfectly negative). The correlation +1
represents that the portfolio risk cannot be diversified by forming portfolio from these assets and the
correlation -1 represents that portfolio risk can be totally diversified if we form the portfolio from such
assets. Thus, correlation helps to know whether we can or cannot minimize the risk and to what extent, while
forming the portfolio from such assets.

Below are the retums for two assets. [10]
State of nature n r2 Probability
Weak growth . 15% 15% 113
Strong growth 30 12 13
Very strong growth 45 9 . 18
Expected retums 30 12 Total 1.0

Calculate the two variances and Cov (r1,r2). If assets 1'and 2 are combined 50 into a portfolio,

what is the variance of this portfolio?

Ans: Varlances: 0.0150; 0.0006 and 0.0024

Consider the following retums of the three stocks over 7-year sample period. [10]
Year Stock A returns Stock B returns smck C returns
1 10% 6% 5%
2 -5 10 15
3 -7 12 20
4 15 8 25
5 20 14 30
6 -30 7 -35
74 12 8 20

What is the expected retum from a portfollo made up of 20 percent asset A, 40 percent B, and
40 percent C? Assume the expected retums. are the annual refums given in year 7. Also
interpret the results.

Ans: 13.60%

@ Write short notes on:
[i._2069 Old Q.No. 63 il
Secunty market line ‘ (5]

E_2o70an0§
Consldar lhe follomng table, which gives security analysis expected retum on two.

Stocks for two particular market retums. [5x 2]
) Aggressive Defensive
Market Return sloick Stock
5% —2% 6%
25 38 12
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What are the betas of the two stocks?

. What is the expected rate of retum on each stock if the market retum is equally likely to be
5% or 25%?

c. If the T-bill rate is 6% and the market retum is equally likely to be 5% or 25%, draw the
" SML for this economy.

d. Plot the two securities on the SML graph. What are the alphas of each?

e. What hurdle rate should be used by the management of the aggressive firm for a project

with the risk characteristics of the defensive firm's stock?
Ans: (ilﬂn- 2.00; fo = 0.30 {b) E{ra) = 18%; E(ro) = 9% (d) ax = —6%; ap = +0.3%; (e) 8.7%,

o

You are consultanl to a large manufacturing corporation that is consmenng a project with the
following net after-tax cash flows (in millions of rupees)

Year from now After-tax cash flow
0 40
110 : 15

The project’s beta is 1.8. Assuming that risk free rate f = 8 percent and expected retum of the
market E(rm) = 16 percent.

i. Whatis the net present value of the project?

i. If the project's IRR is 35.73%, what is the highest possible beta estlmate for the project

before its NPV beoomms negatlve ‘ [10]
Ans: NPV = Rs. 18.09; B = 3.466

4. 2063 Q.No. 9 (b)

Following are the quarterly information given on stocks:

Quarterly period Growth stock return % S & P stock return %
2002 quarter | Q 13.92 A 10.02
2002 quarter | Q2 19.75 11.10
2002 quarter [ Qs -5.82 -0.10
2002 quarter | Qs -3.16 0.40
2003 quarter I| Q; -10.68 -2.40
2003 quarter Il Q2 -5.17 -2.61
* 2003 quarter Il Qs 5.45 9.68
2003 quarter Il Q¢ - 058 - 1.16
2004 quarter lll Qs 7.94 9.18
2004 quarter Il Qz : 9.48 7.34
2004 quarter [l Qs —6.57 -4.10
2004 quarter lIl Q4 21.25 17.19

i.  Determine standard deviation and variance of return for growth stocks and S & P stocks.
i. Find Beta coefficient for growth stocks
iii. How you make partition of total risk in terms of systematic risk and unsystemanc risk for

growth stocks. ] ,
iv.  Find out coefficient of determination with S & P 500 and in your opinion what coefficient of
determmmg for growth stock helps to measure worth of stock. [10]

Ans: (i) o6’ = 105.19, 0 = 10.26%; d\,” = 42.70; o, = 6.53% (il) 1.488 (iii) systematic risk = 94.55; Unsystematic
ﬂskwwsﬂ!vl('-ocﬂlcbmu‘dmmlmﬁm-osn

: Consider the follow retum data of CIT Growth Fund [20]
Year CIT Return NEPSE Return
1995 5.45% 9.68%
1996 0.58 1.76
1997 7.94 9.18 £
1998 = 948 7.34
1999 ~-6.57 —4.10
2000 21.25 17.19
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Determine the variance of retum for the CIT Growth Fund and the NEPSE.
Calculate the beta coefficient for CIT Growth Fund.
Compute systematic and unsystematic risk components.

What conclusions do you draw about the riskness of CIT Growth Fund?
Calculate CIT Growth Fund's coefficient of determination with the NEPSE. What does it

Ans: (a) 72.5607 and 44.4006 (b) 123 (c) 67.1737 (¢) 92.53%

Suppose the current expected return on the market is 16 percent and the risk free rate is 10

percent. The expected retum and betas for three stocks are listed below. Which is overpriced?
Which is underpriced? Draw a graph and show how you reached your conclusion about which
asset is over - or underpriced.

[10]

Stocks Expected return Beta
Frankiin Corp. 16% 1.20
AZZ Corp. 19 1.30
BBB Corp. 13 0.75
Ans: (a) Overpriced; Underpriced; Overpriced
i :

A diversified portfolio is composed of the following five stocks. (a) What is the portfolio's beta?

(5]

(b) What does the CAPM suggest the expected return for this portfolio should be?
Stock Price Number held Estimated beta
£ Rs.20 1000 0.80
AB 30 2000 0.90
Qz 15 4000 1.25
DB 10 1000 1.05
RST 8 5000 1.15
Assume that the expected market retum is 16 percent and the expected risk-free rate is 9
folig Ans: (i) Total beta = 1.061 (ji) 16.427%

Compute the beta coefficient for stocks A and B with the information given below. (a) Which
stock has the most total risk? (b) The most undiversifiable risk?

Stock Correlation coefficient with market Standard deviation, o
A 0.40 0.5
B 0.75 0.6

The variance of market retums is 0.20.

Ans: (a) A the assets with higher standard deviation is considered more risk, the

than stock A (o = 0.5). So, the stock B has most total risk.(b) B, = 0.4472 and Bs = 1.0062.
coefficient of two assets, stock B is larger than stock A. So. the stock B has the most diversifiable.

9. 2059 Q.No.8 (d) -

(10]

stock B (o= 0.6) is greater
the beta

Assume that the retum on the market is 14 percent and the risk-free rate i 8 percent. Use the
CAPM to determine whether of the following stocks are overpriced or underpriced.

Stock - Expected return, % Beta
A 17 1.2
B 14 0.8
C 15 15
D 16 0.75

0. 2058 Q.No. 5

B

Ans: (i) ry + [E (rm) = rd B; (i) A: Underpriced (15.2%); B: I.Indor.prlced (12.8%); C: 17.0% (Overpriced);

D: Underpriced (12.5%)

Suppose the current expected return on the market is 16 percent and the risk-free rate is 10
percent. The expected return and betas for three stocks are listed below.
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Stocks Expected return Beta
Franklin Corp. 16% 1.20
AZZ Corp. 19 1.30
BBB Corp. 13 0.75

a.  If the expected retum from the market and the risk free rate rose to 18 and 14 respectively,
which stocks would be underpriced? Overpriced?
b. What conclusions can you draw about the implication of the CAPM model from your

solution to this problem?

1. 2058 Q.No. 8 (d)

[10]

Ans: (a) Overpriced; Underpriced; Overpriced

A diversified portfolio is composed of the following four stocks.

a. What is the portfolio's beta?

b. What does the CAPM s the expeeted retum for this portfolio should be? [5]
Stock Price Number held Estimated beta

z Rs.20 1,000 0.80

AB 30 2,000 0.90

Qz 15 4,000 1.25

DB 10 1,000 1.05
Assume that the expected market retum is 16 percent and the expected risk-free ra1e is 9
percent.

Ans: (a).Total beta = 1.061 (b) 20.666%

@ Wrﬂé notes on:
Characienstic line 5]
The data beIow describe a four-stock financial market-that satisfies the single-index model.
Stock | Capitalization | Beta Market excess Standard
return deviation
A RBs. 3,000 1.0 10% 40%
B 1,940 0.2 2 30
C 1,360 1.7 17 50
D 2,000 1.5 15 25

The standard deviation of the market portfolio is 25 percent?

a. What is the mean excess retum of the index portfolio?

b. What is the covariance between stock A and stock B?

¢. What is the covariance between stock B and the index?

d. Break down the variance of stock B.into systematic and firm-specific components

e. Interpret the systematic risk of stock B. [6x2]

Ans: (2) 10.482% (b) 125 (c) 125 (d) 25 and 875
From lhe follamng information relating to security A and B, calculate (i) the factor risk of the
portfolio if standard deviation of the factor is 15%. (ii) non-factor risk of the portfolio, (m)
portfolio standard deviation.

Security Factor sensitivity | Non-factor risk Proportion
A 0.2 49 0.4
B 3.5 100 0.6

Ans: (1) 993.69 (Ii) 43.84 (iii) 32.21





